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1) (7 points) Evaluate / / F -7 dS where F =%k and"S.is the part of the plane
s

Z +y + z =3 in the first octant.
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2) Consider the vector field F = 2ry? i+ (2x%y + €*) j + ye k
a) (2 points) Show that F is conservative.
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b) (3 points) Find the potential of F. >
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¢) (3 points) Find /I dr ;. where C' is the part of the helix #(t) = cos(t) i +

e
tg+sin(f)k, 0<% <arm.
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3) (5 points) Find the work done by the force F' =< In(z°+7)—y, g —92—1>
moving along the circle 2% + y* = 9 where motion is counter clockwise.
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4) (5 points) Find /F dr where F = zzi+yj +yzk and C is the curve
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